(& Cosmo School

Work sheet no-8

Class-7 exercise-7.2

Total price of an exercise book and a pen is 75 taka. If the price of the exercise book would
be less by 5 taka and the price of the pen is more by 2 taka, price of the exercise book would
be twice the price of the pen. What are the prices of the exercise book and the pen?

A fruit seller has fruits of which % portion is apple% portion is orange and 40 mangoes. How
many fruits are there in total?

The present age of father is 6 times of the present age of his son. After 5 years, some of their
ages willbe 45 years. What are the present ages of father and son?

Ratio of the ages of liza and shikha is 2: 3 .If the sum of their ages is 30 years,what are their
individul age?



